0

Evaluate I yze'%dy :

0

CS\ lt‘m EADLQ,%AJ( il ;L\_S/_CORE:——‘MPTS
Kie=m 2 (8 -2
<lon |2 Burll G | b
e e b

o oo 522 B
(Dl ”@h @it

= /O*
{g l\,\/\ _)f\l r 3N b

3 \_l_éﬂ N-—=© T % \j“-\j& (I/g

@ :llm yai4%] o ’”(23 e
@ N .o Ji@‘?{. o0 ﬂ
A

O]

W




Evaluate Ie“cSi"'dt . SCORE:

EITe?. VERSION DK
Usgicain © U

)
e s ) At Cos O \,,eu
=S ) g

I e gy -

D‘\JéuCDSUéI\) H e’cos v *’euimu/j&‘)caﬁu c}u_

D-J €’ cos v Au e U e
f@uoogudu s)—‘z@“wsu S up&
{’j’ e t N TS j—!, C/

@ D

®

4

il gersiat
e =

/8 PTS




L

2_ g s = 2 O
| Evaluate I-TM-—dx e L’LX r20x= x(x*4x+20) SCORE: ___ /8 PTS
f

Bt s = x ((x=2D%16) @
- *)8*l’§i7:’bclx j(@ 2L E o

\ S22 A5l B0 C>il @

—

= b

e D020 . A= l
o D=l AenCoisd 0= L B0 4’3\ﬂ/><r4><+20/
gost . 5 = Acop == B2 (Ll & * B s X=

e
SANTY CHeEl :1"‘V\/><\/
7

S ,:;5“’2&3&_); “3‘. ;CZI%+3 @ \*'Bfm I dx+20]|
—:%—b—— :Z_ ~L4—,ﬁ- sy o) i @V . ’kc’
= o

o)




2~ %24 2= (_:2:«- ll-z‘é> SCORE: ____ /7PTS

5
Evaluate I ZzlfTizlidz.
0
¢ 2= 3% |
5 — =
= % 2. 38 d= kj 122 d= S
5 2% Mo | 2 2% 82,12 , i ‘Ldu e eh gl
% du= (2e-Pd2

\L 2l -2do=(22)da

N e
J dz v '?%‘-mlz’v?%ﬂQ)

N——al o 2%=82+12

0 i /%lhmzaxy)ﬂ)?:

N—= 2" Ea

I NIV N n12)]

@ - ff:(-‘"oo”n ’1>___> e @ li'\rrEéfle(L— D\\/’E‘IZ&\S ?@
(EE ]




